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1. Definttion

Yow 1> Disjeint Sets: Two sets are disjoint when they have no elements in common.
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2x: The set of aven number § +he set of odd number are digjoint .

1) Overlapping sets: Two sets die overldpping when they have clements in common .

. ’ I Venn Didgram Fb‘ﬁ,,,‘i"h" Venn 1834-1923)

. A vectangle representing the universal set.

| The subsers are usually represented by circles. | "l

L. Different cases

* Cdse 1 : Disjoint sefs
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I. Definitions
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* Complement : The complement of set A, symbolized by A7, s the set of all
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| the elements in the universal set that ave not in set A.
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n U=112,3.4.56.7.8,9,10]
= 41, 3,5, 14§
A= 12,4.6.8; 9.0}
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o~ - Intersection : The jntersection of sets A and B , symbolized by ANBG | s

the set CD,”,W“"M@ all the clements that are common to both set A a_ﬁo; set B
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“ o Example:

> - 11:2,3,4.5, 6}
B = 11,5,7,%,50,52}
ANB= 1131
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bR B i&»a,e,f}
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A S  Week |

o pe Umion @ The union of set A and set B , symbolized by AUB, is the set

_oontaining all the elements of set A or set B Cor of both sets)

Example :
| n A= {ea Y
S S N -

E . E}" % Pay ? "., , ‘z
- AUB = {45 , O # ? [ #’ B Q‘ %

o _Using Venn Diagram
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A 6- 0,11
. Xa) U= ‘{l; 2; 3,4; 516;7i&191 'OPa'}
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o " ANB ="’7>5§
.. f AUB = j1.2,3, 45, 6,00.0%
S U
ST
P,




2
.

4 |

B R 2 -

w7 N

SN Further Example :
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Union & Intersection

U: '{La?blC!d,elf’%}

o
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A:{a-b,egql
o

&3 {GL;C;C’;C}
C—"{br&t‘f}

TN a CAUB) NCALC)

R . Fivst, let's calcuidte AUB 83 AUC
‘"‘L AUR = {_,ﬁ :be'dze.ié}
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o . Auc= (o.bres g
Thlﬂ, (AU&)[\(AUC‘}& {&76:@;%}
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. First, calewdate AUBR 4 ¢’
}  AUBR: iobicidie, 9f
¢ ={arc.d,gf
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‘ Then (ALBYNC' '—’M;c,d,g&

4 > A'OR

First, write down. A’ & &
A = fcrd.F]
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L,Y.‘.T The mcan'moé of And or Or.

| Andr is generally m'rerpveTcd 10 mean  interseciion

O is genenlly interpreted to mean  union
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3)2[ The Relationship between n(AUBY , ncA) » BR) g nr(ANR)
- For any  finite sets A and B
n(AU&) < ncA) + ncﬁ) _n(:m}&)
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_ The resudts of & survey of students showed —r‘nacf 400 of +hem have & \apfop
s ,4_,,55? _have a desktop ,and 30 of them have ,b;;??‘}? How many students have
N (2 laptop of desktop ’

iLe; A= set of students who have a laptop
B set of wudents who have o d@skfep
o ] ’rken RCA)= 400 . neBY-550

e A e b

= ! nCAUB): 4w +550 ~Fo = ERO.

N "ML Definition

i The differene.of 4wo sets A and B, sqmbohzcd A B » is the set of elements ﬂm‘/
4,,,_b,¢!ms* o set A bul not to set B.
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L AB=iek]
o Acederf]
| A= fard.q, g, 4]
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. Caviesian Product
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The carfesian product of set A ond set R, symbolized by A x® (read A cross B

is the set of all possible ovdeied pairs of the form (&,b) , where aeA , beh.

Bxample A= {a,b.cgds

Be 4 1.2, 3}
Ax B = 4@ 1> , (b.id>, ety , cdy i)
canr) , ¢bi2) . 2y 4 d)2)
@3y . b3y, ce,3y cdy3) |

Rx A= JCHA , chib) , ched , chvd)
L) , b)) . (2:¢) (2, d)
(’:»l ad Cﬁr'b) p (:515) ’ CBId)S

AxB is net the sgme a5 Px A.
Ax A = { Cﬁpa)r,m,b) , e, ¢cad)
Cbrﬂ) ’ Cblb) , (P ), Cb/d)
(g;o\) 7 CC/b) 1] (CIC) ’ (C,d)
, (d vﬂ) /(C’»b) ’ Cd'C’) ¢ Cdrd) 9

BxB = 4y, c1r2) 501,3)
(2 1>, (2,2 (2:3)

Gy L 32) , a3

1,-f n(Ad=m , ﬂ(&\}-‘n , ’}%e;n (L(.Ax&\) * M=
=
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